EARAZROREIERT — 2 N—XBISY —F 20185 1286H (&) 15@KH4H

m#‘ﬂ%%" B3Z #5%—# B R
[A&4£] 1 7% :3,000,000 @ 23 :1,200,000 33 :750,000 4 3% :450,000 @ . 5 7 :300,000 M
B BB mEBR Mk HE BF (&) 24 L (&%) | @BIBf | £3F |SIEE | AR | AE | R FIRB) / BE / £ERS
N EIREER 144, -3-2- . — RS (KH)
i lgli5 T it 4 s 1(4_4)3 2-3-2-2 | 41.7 14 (4_732) i
o4O BiNT 174 —T/N— g/l =Rl
N RFFES 144, SASES . - WMBFIR (KFH)
ol5lg| N TAT A — i [ T IR T | mEes
LN/ BL=Ib B:XN=TLA4Z fEH &
= N HEEAH : -1-1- — RIR (KH)
95474 —0—2X # 4 | BB Ry B R V| e [Ewme
AL:Street Cry #£F:Coronado Rose J G Jones Jr., J
N <4 HEIBThE ; —7-6- — $HAREZ (KH)
gO—1y >4 43 we 1(;111:)7 7-7-6-7 | 41.8 12 (4_536) el
R:7UF—-v B:7rx/4O> J: e ]
c= e . BEFHEI—BR 144, -8-8- . — 1ESRIGHD (Z\#K)
KSSL (4 E> #H 5 B 1(;453 9-8-8-5 | 41.7 13 :1_925) #F%@?z&ﬁ
LAY E = BILFAT AL R4S
T—J > 4 | AR 1:45.5  [13-13-12-12| 41.7 | — | 4 | 449 |ETEH (Ih)
56.0 (3 1/2) (+p) |FIE=H
L:wiNnygrh7r B HRAEHE /-2
R [iopavace) . —11-11- — AEE= (KH)
TU=2S4> #H 5 ne 1(7451:? 12-11-11-9 | 42.1 9 (4;4) e
L:d—IWRT7Y2—)b B:iAVEAFv—L &I E—
s PRSI AHIES : ~5-3- — WiERZ (KH)
8l7lio| 7T ENLTTF H o4 EE 1(;151:33 5-5-3-4 | 43.0 5 (5;2) ﬂimﬁi.\
RF—TTUIF BIILHFUT T4
— N FEFEA : ~14-14- — SRR (KF)
9 5 FYFLH N 4 5 i 1(;5@7 14-14-14-14| 41.8 10 <5+010) i
v —NZZ2H>7F— B:70-T1—IK *H FB
< A5 $ > 5 | #lIFEAE 1:45.8 10-10-7-6 | 42.7 | — 3 515 |fEERIL (1)
10/8|14| ¥~ 721K 77| %0 (172) Cry | e
LT RIAY L= B:OCYILNT— R A—L— -S4 T7—LARE
s i 5 | EHE 1:46.5 6-6-9-10 |43.4| — 6 484 | WAETAZ (KH)
1101 1>¥#008 ¥¢53.0 (3 1/2) (+3) | (AR
LiFHYTILRE BUU—KIRK BHS
- = p——. . 910~ - BARS ()
1 0| Ty E—INTF H o4 e 1.(426).9 8-9-10-11 | 43.8 8 (i}; oS
LN=HANE BNAv—=7 jiE e ]
5 o6 | SEHER 1:47.2 11-12-13-13| 43.5 | — 1 490 | AREEZ (K¥#)
13{7[13] 7~ b+ 1 54.0 (1 3/4) o) |BBET
L:Zg14 T hALE R B:Yv AT LT v — gt
= T ANElsE :49. -4~ . - FTEFE (KH)
14/5| 8| 7IVTAX VTR R 1{39)1 SRR ? f:) T Lz
R:A- K774~ B:Ea—F174 B L
N 4 | A%EE - - - - - — | FHEHFAR (KH)
*k 7 A=A K= * 56.0 (B3) (=) IRANEF
L:3VFTFARYT BT RZZXTE-Y = E—
@ 1 — S —EBIEaf
13=7r= 6,(8,15),9,12,1,11,2,3,14,13,10,4,5
2= = 6,8,15,9,12,1,11,3,2,14,10,13,4,5
Jol=5r= 6,15,12,8,9,11,14,3,1,2,10,4,13,5
40—+ — 6,15,9,12,3,14,11,8,10,1,2,4,13,5
[ JIN=3
H OB 15 14,940 714K 9-15 28,680H % E 5-8 1,950 3EHE 6-9-15 118,100M
8 B 15 2,530 6-15 9,140MH B 8-5 4,230M K31 15-9-6 1,490,500
9 570M 6-9 1,070M B & 9-15 108,170
6 150/ B H 15-9 401,590

ABICOVWTRDTEEERROODE. TR LIV,



